AL (R o OSRGOS

1 A F F AL 080 =
2 AL EEES = NS
3 T *= % i A FE TR E TR (2 02) T
4 /T SO S MY T = 2T B ke Tl R N
5 T Fil 1 B OV +ATH
6 A KLo#OAT BB FR314E3 A 25 H B 10RF
7 AL = 5B =LK RE=E
8 FoOE Al 82,470,000 H (Bik)
9 o (3 15 5 65,826,000 [ (Bitk)
10 L HF % E i A ARG
v = — A $L§2§ =R ;ﬁzil)a i

R (BR) 84, 600, 000
(B) 45 HiuAH 85, 300, 000
(BR) /ML FEIR
(BF) e 84, 000, 000
(B I At % £
SRR (KR) FEIR
(BF) s 82, 000, 000 AL
Hrb R (BR) 84, 200, 000
(BR) BFn TR 85, 100, 000
HERREERR (BK) FEIR
BEEFARTHEGE) 83, 800, 000

i &

_ (B) e
AR DA RO RARTHE T R AR T 5387 FH 38-10
2K 4 AR i A (BLA) T #
FRE314E3 H 29 H )
EC )] ERE314E3 A 28 H 88, 560, 000 S RalEa AR -
i B




